ROTARY JOINT & OTHER HYDRAULIC PRODUCTS | hESigsaREEHEIRS

CGO

RYIER R BT

CGO SERIES 21 MPA
TIE-ROD HYDRAULIC
OIL CYLINDER

ERYHEEFI458E] INSIDE STRUCTURE

[ R R BN R N NN AR 1AL e e W N LRI ]

CGOB

NO Z{4FPart name E{E Quantity NO  ZfZPart name
1 7EZEIPiston rod 1 9 OZRYE|Gasket
2 $EZUER ocking nut 1 10 #&IfCylinder tube
3 FhEEHEET Dustproof seal 1 11 OZYE|Gasket
4 ERFHES Ol seal for shaft 1 12 iEEER Wearing ring
5 [EZGland 1 13 EEEHEdPiston seal
6 BEEEGuide sleeve 1 14 &EEZEPiston
7 ORUE Gasket 1 15 #B8Nut
8 BiE=Rod cover 1 16 SEMEAESpring washer

BRSBTS &R Specifications

842 Quantity

CGOD
NO  S{4&ZPart name
17  &%EEnd cover
18  128nut
19  3EEESpring washer
20  fi#€Tie rod
21 S-KIEHalf snap ring
22 &z Baffle ring
23 EFEEREIRod baffle ring
24 EEEiEEAdjustable nut

E42 Quantity

2l N o|oo|—

HETPIEHydraulic cylinder inside diameter(mm) ~ ©40 ®50 ®63 ®©80 ®100 ®125 @140 ®150 ®160
LUBIBZ 12 #ER B Filtered Oil

T{Fi%8& Power Fluid
EIE+18Material of cylinder barrel
{EFEHEEEThe range of pressure(MPa)
{EFiEEEEE The range of speed (mm/sec)
{SFiBEEEEIRange of temperature(°C)

#EE137f2Cushion stroke(mm) 25 25
E#EEZERELength of standard piston (PM) 40 44
RTEY4TIEN1501-2500mmSiEERE (PM) 80 88
Piston length when the stroke is between 1501-2500 mm
RTBYTIEN2501-4000mmESEERE (PM) 160 170

Customized stroke is 2501-4000mm

223 | M EH R

0.3-21 MPA(3-210kg/cm?)
8~300(mm/sec)
-10 ~ + 60 (°C)

25
51
100
200

25

57
110
210

30
65
120
220

30 30
71 74
140 140
250 260

30
84
160
270

BSfE Carbon steel STKM-13c/Hi#E Stainless tubes SUS 304

30
92
170
270

tTHEIZE7RiA ORDERING INDICATION
%f6l: CGOB-D-63/35-100-LB-Y

CGOB

63

35

100

LB

%% Series

EEEEHEN
FIxed Cushioning Type

TR
Hydraulic cylinder
inside diameter

g Rod
421 PR

1772 Stroke

fTREEER
Accessories
for body

O EERT
Accessories
for rod

CGOB fEifeR ccopwam A i—lh
Standard type Double Rods type q] T

=nss M Blank: No cushion D: #f{RI4E%& cushions on both ends
F: BUZ{RI4E%& cushion on head cover B: 1&Z{fI%&/& cushion on end cover

@40 P50 P63 P8O D100 P125 P140 ©150 P160

4T FRER ©25 ®30 P35 D45 P50 P70 P8O D0
& AMax - ®35 40 P50 D60 P8O D90 D100
iE#&EStandard  ©20 ®25 ®35 P45 50 P70 P80 D90
HEECER: 2O

Blank: standard rod

$fESteel barrel (©40-0200) BXITRE: 4% Maxi4m
BffEron barrel (®40-®200) BARITIE: 2.8%K Max:2.8m

FA BI/AREEY Front flange type CA EEI=R! Single trunnion type E!D:U}:
CB #E38RDouble trunnion type ][
CBP  CBMIPIN CBwithPIN  cof[ [

CAB CA+P+CB m

FB &% Rear flange type
LB IEER Foot mount type

TC BB Trunnion type

# 00T

PHS f2fR#EE Rod-eye joint C:DJD:D
T TEYEER T joint D:'D:D
H I2E#EEaWelding sleeve joint C[D:D
A FFEIZIEAdjustable nut L=

Y YEUEEE Y joint
YP Y+Pin Y with pin

| 158 | joint

ijijits

KG &8 Floating joint

PNEUMATIC & HYDRAULIC CLAMPS | 224



Z#E CGOB 1Z#8! Single Rod Type 1Z%E CGOD+AZY EEyRIFIATFAIE Double Rods with Adjustable Nut Type

| . P+Stroke KT ab o
o xS KE - ODPE | 4k | P1+Stroke o7 —Fh— ke L AL+AST _T e
[ =f i i — H 0 0 @@ I T % T / F+AST  AE %
ol b o Y " /@ =2 Pl @ @%
< —_— =
v ] — — + (] oo[| < o< (0
] . EAESI SRS S's IEE \/
- = B ®]|e - = eTO
E F G H S+Stroke N E F _IG H S+Stroke H |Gl F+Stroke _| AH+AST
Unit:mm Unit:mm
BORE ©®A @B C OD ODE E F G H | N P PT K KE KT S T BORE ®A OB C OD ObE E F G H | P1 PT K KE KT S T A AL AO AE AH GI
®40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 ®40 40 25 M22¢5 70 50 25 30 17 47 9 100 3/8" M12¢15 10 13 64 13 30 55 45 25 35 26
®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 12" M14%15 10 15 68 13 ®50 50 30 M26*5 8 62 30 30 20 52 9 108 12" M14*15 10 15 68 13 38 60 55 30 40 29
®63 55 35 M30*15 100 74 35 3 24 57 9 37 113 12" M1ex15 10 17 75 13 ®63 55 35 M30%5 100 74 35 35 24 57 9 117 1/2" M16¥15 10 17 75 13 42 65 65 30 45 33
®80 65 45 M39%15 125 92 45 35 24 67 9 42 129 3/4* M18*15 10 20 85 15 ®80 65 45 M39*15 125 92 45 35 24 67 9 133 3/4" M185 10 20 8 15 52 70 75 35 55 33
®100 80 50 M40%20 160 120 55 40 31 67 9 42 139 3/4" M22¢15 10 24 95 18 ®100 80 50 M40*20 160 120 55 40 31 67 9 143 3/4" M22*15 10 24 95 18 63 75 90 35 65 40
®125 95 70 Me4*20 190 145 75 45 37 77 9 52 159 1" M2715 10 31 105 24 ®125 95 70 M64*20 190 145 75 45 37 77 9 165 1" M27%15 10 31 105 24 78 8 105 40 80 46
®140 105 80 M7220 215 160 80 50 40 77 10 52 164 1" M305 15 34 110 28 ®140 105 80 M7220 215 160 80 50 40 77 10 170 1" M30*15 15 34 110 28 90 90 120 40 85 50
®150 120 90 M80*20 230 170 90 55 45 8 10 52 174 1" M33%15 15 39 120 30 ®150 120 90 M80*20 230 170 90 55 45 80 10 180 1" M33*15 15 39 120 30 100 100 130 45 95 55
®160 125 90 M8020 240 180 90 55 45 8 10 52 186 1" M33%5 15 39 132 30 o160 125 90 M80*20 240 180 90 55 45 80 10 192 1" M33*15 15 39 132 30 100 100 130 45 95 55
ZAE CGODZY 1Z4L#EY Doubles Rod Type ) CGOB+FAZ! FiiERIEL Front Flange Mounting Type
oD —
I P1+Stroke 2.p7 KT KE ODE 4-K . | 2-pT P+Stroke T 4-@FD S DE 4-K
T T3 T 77 = T T i - KE
£ il L | il oB [T T S ==
e f - R ER N il O (NN @
<A @ <| @ [ U ) < N
SEIEYE Q NS Yy & % o = N[
H Y L = et : S Pany
l @T® - = 0@ o
E |LF |G| H S+Stroke H | G| F+Stroke 2xE E_|FIFT| H S+Stroke N 0
Unit:mm Unitmm
BORE ®A @B C OD ODE E F G H | P1 PT K KE KT S T BORE ®A @B C ObDObE E F G H I N P PT K KE KT S T O®FDFT FR FX FY FZ
@40 40 25  M22¥15 70 50 25 30 17 47 9 100  3/8" M12*15 10 13 64 13 ®40 40 25 M22¥15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 11 17 98 50 122 73
®50 50 30 M26*15 85 62 30 30 20 52 9 108 12" M14*15 10 15 68 13 ®50 50 30 M26*15 8 62 30 30 20 52 9 37 106 1/2" M14*215 10 15 68 13 14 20 118 60 145 88
063 55 35  M30¥5 100 74 35 35 24 57 9 17 12" M16*15 10 17 75 13 ®63 55 35 M30*5 100 74 35 35 24 57 9 37 113 1/2" M16x15 10 17 75 13 18 24 140 73 175 106
®80 65 45  M39*15 125 92 45 35 24 67 9 133 3/4" M18*15 10 20 85 15 ®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" M1815 10 20 8 15 22 24 175 90 210 130
®100 80 50 M40*220 160 120 55 40 31 67 9 143 3/4" M22*15 10 24 95 18 ®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22¢15 10 24 95 18 26 31 215 115 260 165
®125 95 70 M64*20 190 145 75 45 37 77 9 165 1" M27¥15 10 31 105 24 ®125 95 70 Me4*20 190 145 75 45 37 77 9 52 159 1" M27¥15 10 31 105 24 33 37 270 145 330 205
®140 105 80 M7220 215 160 80 50 40 77 10 170 1 M30*1.5 15 34 110 28 ®140 105 80 M72*20 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 33 40 280 160 335 218
®150 120 90 M80*20 230 170 90 55 45 80 10 180 1" M33*15 15 39 120 30 ®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 36 45 315 180 375 243
160 125 90 M80*20 240 180 90 55 45 80 10 192 1" M33*15 15 39 132 30 @160 125 90 M80*20 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 36 45 315 180 375 243
EEEI NOTE
1EOIIAAIRETRBEER TR, KIBANEHREETIIT. 1. For rods extending processing,if the length is not specified,then it should
2 CGORFTIZRABRIS00MmES, SEEER (PM)UIMISE, (TEYTIsumE follow our company's stipulation for processing.

2. For the CGO series whose stroke is less than 1500mm;the length of the
piston is shown in the affiliated table for those customized CGO whose

IBIS00mme, EIERE (PMESREEEHE,

3ARFEHTFRUNEIB2000 (&) mmiE, BENFATREEEE, stroke is more than 1500mm,the length of piston conforms to product
4 REZBROMEIERAEMS0mm (&) LIRS, EYMSAER. specification.

3. Middle rod holder must be installed for those CGO whose stroke is
equal to or more than 2000mm

4. The external diameter would be round when the size of rod nut is equal
to or more than M50mm.

5. AST stands for adjustable stroke designated by customers.

SASTRERIEEZ AR TIE.

225 | &M E L R 5 PNEUMATIC & HYDRAULIC CLAMPS | 226



=4 CGOB+FBEY 1&/AM%Y Rear Flange Mounting Type

=% CGOB+TAZ! FiE#AE! Front Trunnion Mounting Type

P+Stroke 4-QFD aob 4-K ZTA P+Stroke TLA
KT | 2-PT B
KE — | ‘%T | f PT KT TPA TXA
T —5 ] T N . KE
bl B ® & @ @ e 1
| | g | 9 'O
u[t e B ) 2] -t | o il Jar |
Fan | | NIy . %J SIRS) )
al ) N
H L] 09 99 iz 3 D €
4-K
FR E F |G| H S+Stroke N ODE N
E F |G H S+Stroke N [FT FY 0D
Unit:mm Unit:mm
BORE PA ®B C ODODEE F G H I N P PT K KEKI S T ODF FR FX FY FZ BORE DA ®B C ODODEE F G H I N P PT K KEKI S T O ZIA ®TU TLA TPA TXA R
®40 40 25 M22¥15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 11 17 98 50 122 73 ®40 40 25 M22¥15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 33 705 25 123 73 25 25
®50 50 30 M26*1.5 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 13 14 20 118 60 145 88 ®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 13 33 76 25 138 8 25 25
®63 55 35 M30*1.5 100 74 35 35 24 57 9 37 113 1/2" M16*15 10 17 75 13 18 24 140 73 175 106 ®63 55 35 M30*1.5 100 74 35 35 24 57 9 37 113 1/2" M16*15 10 17 75 13 43 875 315 169 106 315 25
®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" M18*15 10 20 85 15 22 24 175 90 210 130 ®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" M18*15 10 20 85 15 53 925 40 208 128 40 3
®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 26 31 215 115 260 165 ®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 631045 50 270 170 50 3
®125 95 70 M64*20 190 145 75 45 37 77 9 52 159 1" M27¥15 10 31 105 24 33 37 270 145 330 205 ©125 95 70 M64*20 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 105 24 78 1205 63 331 205 63 4
®140 105 80 M72*20 215 160 80 50 40 77 10 52 164 1" M30¥15 15 34 110 28 33 40 280 160 335 218 ®140 105 80 M72720 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 881285 71 367 225 71 4
®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 36 45 315 180 375 243 ®150 120 90 M80%20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 98 140 80 415 245 80 4
®160 125 90 M80*20 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 36 45 315 180 375 243 ©160 125 90 M80*20 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 98 140 80 415 255 80 4
T CGOB+TCE! hfEEEEY Middle Trunnion Mounting Type EE CGOB+LARY ZEARIEERY Right & Left Foot Mounting Type
P+Stroke ‘e KT P+Stroke oD
S+Stroke TL 2-PT S+Stroke ODE
i T KT TP TX I
I ~_ — KE T N —
T T I i D i
E i 1':;%&7 (%@} — ¢ @ : A\Y
N — K 4-K
o all < (an e = g S z
SIS \J NS b ~| 4-9AD
2-R = o] e, < N (D
[ B 9 @ [ -3 Y | &
E _|F|G| H N ope | MK E .FIGLH N AX
ZT+1/2Stroke aob AL ZA+Stroke AY
Unit:mm Unit:mm
BOREGA ®B C ODODEE F G H | N P PT K KEKI S T TT ZT oU TL TP TX R BOREGA ®B C ODODEE F G H I N P PT K KEKI S T ZA AL AT AN AH OAD AY AX
©40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 33 125 25 123 73 25 25 ®40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 111 63 15 42 77 11 122 98
®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 13 33 136 25 138 88 25 25 ®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 13 120 68 20 55 975 14 145 118
®63 55 35 M30*15 100 74 35 35 24 57 9 37 113 1/2" M16*15 10 17 75 13 43 154 315 169 106 315 25 ®63 55 35 M30*15 100 74 35 35 24 57 9 37 113 1/2" M16*15 10 17 75 13 132 77 25 63 113 18 175 140
®80 65 45 M39¥15 125 92 45 35 24 67 9 42 129 3/4" M1815 10 20 85 15 53 169 40 208 128 40 3 ®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" M1815 10 20 85 15 152 80 30 75 1375 22 210 175
®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 63 185 50 270 170 50 3 ©100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 162 94 35 85 165 26 260 215
©125 95 70 M64*20 190 145 75 45 37 77 9 52 159 1" M27%15 10 31 105 24 78 212 63 331 205 63 4 ©125 95 70 M64*20 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 105 24 182 110 45 105 200 33 330 270
®140 105 80 M72:220 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 88 222 71 367 225 71 4 ®140 105 80 M72*20 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 187 118 45 112 2195 33 335 280
®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 98 240 80 415 245 80 4 ®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 200 131 50 120 235 36 365 300
®160 125 90 M80*20 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 98 246 80 415 255 80 4 ®160 125 90 M80*20 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 212 131 50 125 245 36 375 315

227 | R B R

PNEUMATIC & HYDRAULIC CLAMPS | 228



Unit:mm

1Z=#E CGOB+LBEY BfEMIEEEY Front & Rear Foot Mounting Type BOREPA ®B C DODODEE F G H | N P PT K KEKI S CMCN T o R CL CW CX
®40 40 25 M22*15 70 50 25 30 17 47 9 32 98 3/8" MI12¥15 10 13 64 17 25 13 20 25 42 325 64
F _ P+Stroke KT oo ®50 50 30 M26*15 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 20 32 13 25 30 52 365 72
T F 2-PT |1 KE ®63 55 35 M30*15 100 74 35 35 24 57 9 37 113 1/2" M1615 10 17 75 24 40 13 315 35 64 405 80
@b *" : Eﬁ— ®80 65 45 M39¥15 125 92 45 35 24 67 9 42 129 3/4" MI1815 10 20 8 24 50 15 40 45 74 505 100
[aa]
éuﬂ =) T A ®100 80 50 M40720 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 31 63 18 50 55 94 635 12
=& _—@ =2 ET@ 777777777777 3 ®125 95 70 M6420 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 105 37 79 24 63 70 116 805 150
S .h = ®140 105 80 M72220 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 40 89 28 71 80 129 805 160
G|_H S+Stroke N | LL LX
ZL+Stroke LR Ly ®150 120 90 M8020 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 45 100 30 80 90 145 1005 200
®160 125 90 M8020 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 45 100 30 80 90 145 1005 200
Unit:mm
BOREGA®B C ODODEE F GH I N P PT K KEKT S TOWDIR LL ZL IT LH LM X LY IN CGO ZFIBUEEA YAUEEE CGO Series I,Y type connector
®40 40 25 M22¥15 70 50 25 30 17 47 9 32 98 3/8" M12*15 10 13 64 13 14 20 42 244 8 8 23 50 70 48 AS A
®50 50 30 M26*1.5 85 62 30 30 20 52 9 37 106 1/2" M14*15 10 15 68 13 16 22 46 269 10 100 265 62 85 575 (‘; /\/K G _J oF
®63 55 35 M30%1.5 100 74 35 35 24 57 9 37 113 12" M16*15 10 17 75 13 18 27 65 323 13 118 31 74 100 68 ! ] ! Eﬁ
®80 65 45 M39¥15 125 92 45 35 24 67 9 42 129 3/4" M18*15 10 20 85 15 20 30 70 358 15 145 365 92 125 825 77‘# ,,,,Lf” s |
®100 80 50 M40*20 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 24 32 80 395 18 188 48 120 160 108 /”L” - i -
®125 95 70 M64*20 190 145 75 45 37 77 9 52 159 1" M27%15 10 31 105 24 28 35 90 451 20 220 525 145 190 125 i < i < |
®140 105 80 M72*20 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 32 40 95 469 25 250 625 160 215 1425 i : i e« % 1 % “ i ! i
150 120 90 MB80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 35 40 100 497 28 268 68 170 230 153 e ‘ v | - - |
©160 125 90 M8020 240 180 90 55 45 80 10 52 186 1° M33*15 15 39 132 30 35 40 100 509 28 278 68 180 240 158 L’ET’* == ==
E H
@H K
1Z#E CGOB+CA EEEZ! Single Trunnion Mounting Type T —
oD BORE A B C D E F G H | J K L
KE KT P+ Strok
N oxe 2l ODE_ | 4k 40 70 50 25 25 M22+15 20 32 4 8 16 64 10
T = 4 ——
— — i @CD = ®50 85 60 30 30 M26*1.5 25 36 50 10 18 72 12
<| [{cof - - - 063 105 70 35 35 M30%15 315 40 63 15 20 80 15
Q | g& CR I
O _ o[l ®80 130 90 45 45 M39%15 40 50 80 20 25 100 20
= BEpr Sestroke | NCN| o] ®100 160 110 55 55 M40%20 50 63 100 25 315 126 25
125 205 142 75 75 M64*20 63 75 126 30 40 150 30
Unit:mm 0140 230 155 80 80 M72:20 71 80 142 35 40 160 35
3
BORE DA ®8 C ODDODE E F G H |I N P PT K KEKI S T CN oD CR CV Y &l e 2l e LEED 5L 1LY LY &L 2 2% Gl
3
®40 40 25 M2215 70 50 25 30 17 47 9 32 98 38" MI2*15 10 13 64 13 25 20 25 32 @160 2% 17 %0 %0 Mgo'20 80 100 160 40 20 200 40
®0 50 30 M26*15 8 62 30 30 20 52 9 37 106 1/2" M1415 10 15 68 13 32 25 30 36
®3 55 35 M30*15 100 74 35 35 24 57 9 37 113 1/2" MI615 10 17 75 13 40 315 35 40 GB #R.Y #2588 GB Plate.Y Joint Pin
®80 65 45 M39*15 125 92 45 35 24 67 9 42 129 3/4" M1815 10 20 85 15 50 40 45 50 D C
®100 80 50 M40720 160 120 55 40 31 67 9 42 139 3/4" M22*15 10 24 95 18 63 50 55 63
®125 95 70 M6420 190 145 75 45 37 77 9 52 159 1" M27*15 10 31 105 24 79 63 70 80
®140 105 80 M72220 215 160 80 50 40 77 10 52 164 1" M30*15 15 34 110 28 89 71 80 80 SR — H 8 I
®150 120 90 M80*20 230 170 90 55 45 80 10 52 174 1" M33*15 15 39 120 30 100 80 90 100 i
®160 125 90 M8020 240 180 90 55 45 80 10 52 186 1" M33*15 15 39 132 30 100 80 90 100
E H
Unit:mm
1Z#E CGOB+CBE! #E7! Double Trunnion Type BORE A ®B C D E OF H
40 20 o2 19 5y 11 65 5 25 77
-0.02 0
. ‘T S— o _— ®50 25 o 239 o 13 73 5 ®30 85
- =S CN 063 ®315 gy 286°),, 13 81 5 36 93
, 2-PT ODE _ | 4.
T — — T 80 40 32 375 s 17 101 8 ®50 118
i L — NN S~ @CD ol /77}3,} e .
@ & ®100 P50 0% 47 9 22 127 8 ®60 144
S UL g — — - g —| + | = »125 D63 g 60 s 27 151 10 ®70 173
S, = TR 4| | L 140 o71 2% 67 °, 27 161 10 80 183
-003 0
£ lFleln S+Stroke N CL = »150 80 2% 765, 27 201 10 ®90 223
X 160 80 % 765 %, 27 201 10 %0 223

229 | &M E L R 5 PNEUMATIC & HYDRAULIC CLAMPS | 230





